i
I
iy
Tl
P=ai
i

1. ¥4
kG4 A0 T AR R |k R A S
BT AT tehiE) KRB E T E

2. EHEAR

1) FHEI4

2) JEATHIM

290 H {5 H &% 74 4717H
E 4 8% 1H31H

3) PN

4) EBNE

=R oS KN o723 S



FEH N

Tl
>

=
=

WA | BT AR ) ek B R A S B YR AR A
H H — AR
THH - TR - R H AL % & 4 %A O ER
— A =X 1 11, 555, 955
BERER oy 1 6, 424, 200
FtgoR— Y 7 =X 1 3,347,600 | TEAR—Y 7 (F—na7R—1

) 15 m
- WE L, 50mEL T, $A1E. T /7, ¢ 66mm

+ER—=Y 7 F—arTR—Y

) 4 m
- WE L, 50mEA T, $A1E. T /7, ¢ 66mm

+ER—=Y 7 F—arTR—Y

) 15 m
R U Y 4, 50mEL T, $R1E. T 57, ¢ 66
mm

+ER—=Y 7 = arTR—Y

) 4 m
R U0 L4, 50mbL T, $71E T 7, ¢ 66
mm

TER—=V T (F—arTr—V

) 10 m
AR UV L4, 50mL T, $71E T 7, ¢ 66
mm

+ER—V T (F—naTrR—V

) 12 m
AR T Y 205, 50mEL T, $h1E T 5, ¢
66mm

+ER—V T (F—naTrR—1

7 4 m
AR T Y 05, 50mEL T, $h1E T 5, ¢
66mm

+ER—=Y 7 = arTR—1

) 4 m

-1 - [E a3 ALl b 5



i
I
iy
Tl
P=ai
i

WA | BT AR SR RIS TR A R HE A
H H — XA
THH - T - fE5 H L ¥ = 4 #H Wl B N R
EART Y /P, 50mPL T, 08 T JF, ¢
66mm
EHBER—Y T (A= a7 R—Y
7)) 12 m

#CE, 50mEL T, $RIEC T, ¢ 66mm
EHBER—Y T (A= a7 R—Y

) 6 m
WO, 50mEL T, $R1EL T 77, ¢ 66mm
T T 7 RO E R E2V 1 1,279,500 | FEAEE AGRBR
15 6]
W W+
FRHEE AR
4 ]
W W+
FRHEE AR
15 6]
BGRELT Y LW
FRYEE A BB
4 [m]
BGRELT Y LW
FRYEE A BB
10 ]
BGRELT Y LW
FRYEE A BB
12 ]
EARLEY £
FRYEE A BB
4 [m]
EARLEY £
FRHEE AR
4 [e]
EAELY i

-2 - Etzz@y  AbkEt 5w R



i
I
iy
Tl
P=ai
i

WA | BT AR ) ek B R A S B YR AR A
H H — AR
THH - TR - R H AL % & 4 #H Wl B N R
R BN GRIR
12 =]
LUes]
(LR PN
6 [A]
LG
AT 2 1 237,440 | fRETE A
1 =
Hd-~ 0 3R oy 1 1,411,660 | BEIL IR
1 =
AR AL R
I TR
1 =
= | BB
BaiiiA
1 =
LI G7E L
1 =K
B YL R R L OV B sl bR
1 K
o Pl o VR T 2 1 130,000 | E-FRR A IER T
1 K
T E 25 X 1 18,000 | FREE%
9 EN
A X 1 5,131, 755
TEHR X 1 2,581,310 | EWRE
1 =X
TR
1 =
TERE
1 =

3= Etzz@y  AbkEt 5w R



B
L | BT EE R R R A S ER A
H H — A
TEHA - LfE - R =AY VA # & A OB R
e T 2 1,095,510 | YEff & OB+ F
1 =
e K OB A4+ 0
1 =X
e K OB A4 0
1 =X
T FLEAZE
1 =X
$aKE (R v 7 ElR)
1 K
e 2 1,273,000 | 25 ER
1 K
i AL = 137,092 | fe#y (i E - B
1 K
R =gy = 44,843 | Wi TG PRE
1 K
BRI =X 11, 555, 955
ik ¢ = 7,624, 045
At =X 7,624, 045
— TR = 19, 180, 000
AT A = 1,291, 038
[EREE 3% = 1,291, 038
AT A = 1,291,038 | FFivE(
1 k%
FRNT R
1 =

=R oS KN o723 S



L | BT EE R R R A S ER A
H H i@
TEHA - LfE - R ==V # & A Mo 3
Bt = 299, 600
bS] = 299, 600
e = 299, 600 | ¥TAH

1 =
EEFAM (2 OMFEMmER <) = 1, 590, 638
& DAt AT = 856, 558
— i B = 1, 312, 804
AT SR R = 3, 760, 000
TR S M = 22,940, 000
JiE = 135, 420
o GREFEER) =X 135, 420

N BRI ERCR ShPERK =X 135, 420 | Z\BHRKF SRR

1 ESE
ERREM (ZOtFEMER<) =X 135, 420
Z O FA =X 72,923
— RS L = 111, 657
e S =X 320, 000
SRR v 23, 260, 000

-5- E sz Jbkbe 75 R



